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Wachtel-Muial 1953 - White to play & win (3 moves)
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In my chess alphabet series P is for POLITICS, an appropriate topic after Kasparov’s retirement from chess and his decision to work for the advancement of democratic ideals and freedoms in Russia.  You may have read that last week Kasparov was hit over the head with a chessboard in Moscow by a disillusioned fan.  Kasparov linked the attack to his criticisms of Russian President Vladimir Putin and there are suspicions the attack was carried out by a member of a new pro-Putin youth movement.  In a recent interview Kasparov said, ‘Chess was not just corrupt .... it was a Communist-controlled game.... The biggest events in Chess were political events – Fischer-Spassky, political ... Karpov-Korchnoi, political.’  Here is a win of Kasparov with strong political overtones. He is pitted against Russian defector Viktor Korchnoi who had lost two World Championship matches to Anatoly Karpov, the first by the closest of scores, -6, +5, =21:

      V Korchnoi (Switzerland)  -  G Kasparov (USSR)

                  1983 Chess Olympiad, Lucerne

                       Modern Benoni Defence

 1    d4  
Nf6  


 2    c4  
g6

 3    g3  
Bg7  


 4    Bg2  
c5

 5    d5  
d6  


 6    Nc3  
0-0

 7    Nf3  
e6  


 8    0-0 
exd

 9    cxd  
a6  


10   a4  
Re8

11   Nd2  
Nbd7  


12   h3  
Rb8

13   Nc4  
Ne5  


14   Na3(a)  
Nh5

15   e4(b) 
Rf8(c)  

16   Kh2(d)  
f5

17   f4 

b5!  


18   axb(e) 
axb

19   Naxb5  
fxe  


20   Bxe4!(f)  
Bd7

21   Qe2!(g)
Qb6! 


22   Na3  
Rbe8

23   Bd2?(h)  
Qxb2! 


24   fxe4
Bxe5

25   Nc4  
Nxg3! 


26   Rxf8+ 
Rxf8

27   Qe1  
Nxe4+  

28   Kg2  
Qc2

29   Nxe5  
Rf2+?(i) 

30   Qxf2! 
Nxf2

31   Ra2! 
Qf5! 


32   Nxd7 
Nd3

33   Bh6?(j) 
Qxd7  


34   Ra8+ 
Kf7

35   Rh8? 
Kf6 


36   Kf3? 
Qxh3+

White loses on time(k)

a)  Deterring ...b5 but leaving Black with a much superior force on the kingside.

b)  Both 15 g4, Bxg4!  16 hxg, Nxg4 & 15 f4, Nxg3  16 fxe5, Bxe5 give Black strong attacks.

c)  If the immediate 15...f5 White has 16 exf, Bxf5  17 g4, Bxg4!  18 hxg4, Qh4  19 gxh5, Rf8  20 h6! Bh8  21 Nc4!! Ng4  22 Qxg4, Qxg4  23 Nxd6 with advantage.

d)  If 16 g4, Qh4!  17 gxh5, Bxh3 with a strong attack.

e)  18 fxe5 is strongly met by 18...Nxg3!

f)  White could also try 20 Na7 or 20 Nxd6!

g)  If 21 Nxd6, Rb6  22 fxe5, Bxe5  23 Nc4, Bxg3+  24 Kg1 (24 Kg2? Bxh3+!) 24... Rbf6.

h)  White should now play 23 Qc2 or Qg2: instead he makes a tactical error.

i)  Black has a won game with 29...Nxd2.

j)  White can now draw with 33 Ra8+, Kg7  34 Ra7! Qf2+  35 Kh1, Qxd2  36 Ne5+!  with a perpetual (Black’s king cannot escape to c7 because of Nb5+).  In severe time trouble Blak goes to pieces.

k)  The 19 year old Kasparov scored +6, =5, -0 (mainly on Board 2).  He rates this as one of his greatest games.

Get along for the GUFELD CUP (6 round,WA Grand Prix) this weekend (Sat & Sun 12.30 – 6, Mon 10.30 – 4.30 – entries accepted up to 12.15 today). Venue Midland Chess Club, Ascension Church Hall, Spring Rd., Midland.  Enquiries 9454 7838 & 9398 4242.

SOLUTION:  1 Re5! Rxe5  2 Bxe5 & wins – 2...Bd1  3 Bc3# or 2...b5  3 Bc7#  - the Cordes Theme from actual play.

